HRE6 = (1A (BTAML) (BEERUE6RKBR)

EAFHER TERL B AHLITRE

T = Bl BAFREHMLEETE (R EERETE)
B R % O A W gpeawms
T F B P saehsferrm -
|B8 #L H B FRE27EIA9H (K) -8 97155
A fL R W
A HO#F A A K & B@E | @ =

RIF B TS

H27.9. TR IR RS E
K B R /3,470, 000
SATT T - T /2,950, 000 \
TSR H27.9.88HR /G
77 7y R—1 H27.9.TRHB B %
o R H27.9.78B /% HE
(R H27.9.8%¢1Bfm5 2
EEARTHE H27.9. T8RS
FEIER 2, 800 000 7B AL
TR 72, Y00, 000 |
UE—— H27.9.8FRfEHE
LIFFER

LI & FEIT10045D8ITHE %fé%ﬁ%ﬁﬂ%bf:&%ﬁﬁ%’%k@Hﬂi&k@:ﬁéﬁ%’%éo

XL

WA E L, BHREDHFELITo TV oELRRE, RAF

TALBINERE L BCREINENLBRELL,




HREOB() (5%, BOLR OETEEIR)

ERERE A HEW HERGR
K& M = A BE—X T® T = # =
- 13,824,000 {9 [AdLZg| —a (4D MERM MUEETH (- ERRELE) —RX
(GEE DA AR 1,024,000 M) | oF% F O ( ) 3REIHET
Fq ML .
- (BB 2% ) ALE | ¥ mK 271 £ 9 A 9 H
(HERAE M) |EEZOIRIERES 1
(BB YEE M)
Fq .
2 CEE G EE M) |ERRMRIEEHRSG 2 FEERUOBSOHEFEF2EEL-HE
/\EZ A .
: (GERAR M)
(HEBFEYE M)
M |EEROIRATEESR 3
3 (HEBAE S M)
EES )
(HEBHE YA M) -
¥ =z 14,763,600 BFEREAER B T A e
i # |(HEHAE LR 1,093,600 ) | - B Fr2TE£9IA 1A
BAKHIIR : 11,810,880 M =B CF R 2T &9 A 10 H T EK284E2H2A
fii # |GHEBEYEE 874,880 M) | . B FR £ A B
=6 EE A BEL| PR # A R = ¥k £ A A
(PN  BETAKEFARET L1090 s - ' B R & A H
(755 X424 F0) wE2 | F R ® A H = ¥ £ A A
{FEIREERH s o B ¥ £ A B
EE3I | ¥ &k € A A = T & 5 &
, T = 4 - BRZE0LH T ¥F & B
BAFPERMUREIF(EBE - SR HETE) A FHER EBEAFTEEEFHN

$O



